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QUESTION 1

What is a benefit of storing Hadoop data on an Isilon cluster versus a traditional Hadoop environment?
A. In-place analytics

B. Requires 3X data mirroring

C. NameNode resides on a single node

D. Nodes do both computation and storage

Correct Answer: A

QUESTION 2

What is a characteristic of L3 cache on an Isilon cluster?
A. Contents will be persistent through a node reboot

B. Accessed only by clients connecting to the node it is on
C. Only holds file data that has been stored on SSD drives
D. Must be the same size as the L2 cache

Correct Answer: A

QUESTION 3

When using an X410 node containing HDDs and SSDs, which bay numbers are used to contain SSDs in the standard
configurations?

A. Bays 1 and 2 only
B. Bays 1 through 6

C. Bays 31 through 36
D. Bays 35 and 36 only

Correct Answer: B

QUESTION 4

In an Isilon Hadoop configuration, what changes occur in the event there is a failure of an Isilon node running as a
NameNode?

A. Another Isilon node will immediately pick up the function of the NameNode and metadata will be preserved
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B. Administrative intervention will be required to failover the NameNode
C. Affected node will be SmartFailed since metadata assigned to the failed NameNode can be compromised
D. Administrator can configure a replacement NameNode; all metadata will be preserved

Correct Answer: A

QUESTION 5

A storage administrator needs to create a file pool policy to move files that have not been changed in over two months
to their archive tier. The Tiers of nodes with faster and slower node pools already exist. Which file matching criterion
should be used to meet this requirement?

A. atime is older than 2 months ago

B. birthtime is older than 2 months ago

C. ctime is older than 2 months ago

D. mtime is older than 2 months ago

Correct Answer: D
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